Z:(3000) ZMIHEHI B+ (3100) 54 ] :(3110)SHRES Mg (3111) s g sae) HIAIEE: (120) 3 &= 2 b EENEGREED
o = S R im)
of A o At = ) =
.2 HIE A = Of & M = oA 2
3000 [= 157,110,790 & 58,779,000 X 0 = 136.564,750]
=D BIE] 352,501,369  325,583,202|  27,008,077| [DI 84,000 = 52,739 1 0 ]
3100 [= 157,110,790 & 58,779,090 X 0 & 136,564,750]
RN ETEE 352,591,369  325,583,202|  27,008,077| [DI 84,000 = 52,739 0 ]
3110 [= 157,110,790 & 58,779,000 X 0 = 136.564,750]
SHRE 352,501,369  325,583,202|  27,008,077| [DI 84,000 = 52,739 1 0 ]
3111 [Z 5,554,505 & 14,880,273 X 0 & 5,993,500]
ST ML 26,481,017)  28,001,552| 1,520,535 [ 0 = 52,739 0 ]
100
2 ALOf ot 199,840 198,240 1,600
120
ZAEAY| 199,840 198,240 1,600
201
e 2 | 70,180 70,180 0
70, 180 70,180 001 Leregy|
oYt 2| = 37,800
cegsd = 15,480
SEEL] = 16,900
202
] 54,600 49,400 5,200
54,600 49,400 5,200/01 2404 HI
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ZH:(3000) B MIOHEHl  2:(3100) === &HH 2 H &:(3110)=sERE Mg (3111) s AL NIAIE: (210) E R A Y (=3[ dE]

ok = %S IS IR == e m}
O]l At o A = Il =
I 2 S MIE. NIMIE =2 O]l &b oM = A 2
201
B2 A Y| 15,000 16,000 A1,000
15,000 16,000 A1,000[01 LBr29Y|
oXldsIZHAH =X 15,000,000 x 100% = 15,000
() 15,000
202
o H 15,000 13,000 2,000
15,000 5,000 10,000({01 =2LHOIHI
o=ZANE EIIS 15,000,0002 x 100% = 15,000
() 15,000
307
0I2H0| A 58,800 510,600 A451,800
58,800 422,600 A363,800/05 DIt Er=
oS =0 WY = 58,800
(=) 41,160
() 17,640
308
XSS 7,271,669 6,426,752 844,917
ol &




X:(3000) 2 HINLHl  2:(3100) 4= AHH Y] &:(3110)sERS Mg :(311) sgmmae) MIAIEE: (210) 2 ALY 2] [oe @]
i = = E] o m
— of & o | T Hl - A = ol %
X2 E ME HAME = o A | = oA - = -
7,271,669 6,426,752 844,917 |01 RMHXSHHMIANEERZ
oXldsdZHAH F=A 534,000,000 x 75% = 400,500
(%) 133,500
() 267,000
OSAMNEMEOIS AMRE HEH A = 104,160
(=) 84,000
(%) 20, 160
oS HAYHAE X = 582,400
(2) 520,000
() 62,400
o9 SEXNYS AT 4
{(20,0002 x 3,5003]) + 21,450,00024} x 65% = 59,443
(2) 45,725
(%) 13,718
o¥ R0} A=Hl X
(104,000 x 4,500 x 122) x 65% = 3,650,400
(2) 2,808,000
() 842,400
o=l UESIIXHA
(64,3002 x 3,400Y x 12”) x 65% = 1,705,236
(2) 1,311,720
() 393,516
oS} =0 24 = 47,400




Z:(3000) B HMIJHEHI  2:(3100) === &KL HI &:(3110)=sERE Mg (3111) s AL HIAIE: (210) B = At (=3[ dE]

ni; = b I R = m
— of Ao N Hl - A = ol %
N ERLE o of & o | = oA 2 - = -
(2) 42,000
(%) 5,400
oXZELHFIR (858,200,000 x 1JHA) x 65% = 557,830
(=) 429,100
(%) 128,730
o= YOl HEAAH = = 34,300
(2) 28,000
() 6,300
o M95l Z2HMolANAA 200,000,000 x 65% = 130,000
(%) 30,000
() 100,000
403
XX SRS 7,445,910 8,927,050| 1,481,140
X0l &
7,445,910 8,927,050| A1,481,140|01 XXM HE2E =
oXldsIHAH =X 2,280,000,0002 x 75% = 1,710,000
() 570,000
() 1,140,000
oM EIE XN
200,000,000 x 14 A x 65% = 1,820,000
() 420,000
() 1,400,000




ZH:(3000) B MIOHEHl  2:(3100) === &HH 2 H &:(3110)=sERS Mg (@it sgd M ae] NIAIE: (210) E R A Y (=3[ dE]

i = = E] o m
— of Ao N Hl - A = ol %
X 28 HE MM = o & | = oA - = -
oSIEXNRASH (XNAETAIY)
780,000,000 x 75% = 585,000
(%) 195,000
() 390,000
osSAE2 22U FSIAIY 2,234,000,0002 x 50% = 1,117,000
() 1,117,000
O ASAIKREHLE AX = 1,616,400
() 269,400
() 1,347,000
oS AZIBAMASH (XAES}) 597,510
(2) 244,800
() 150,210
() 202,500
I ERMAAIAL = 75,000
(%) 25,000
() 50,000
CAHOIE HUAIE MAL = 153,750
() 51,250
() 102,500
CMEF MAAIA = 75,000
(%) 25,000
() 50,000
SRS AZ2 BRI M S ALY = 293,760
(=) 244,800
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ZH:(3000) B MIOHEHl  2:(3100) === &HH 2 H &:(3110)=sERS Mg (3111) s AL NIAIES: (220) KR ALY (=3[ dE]

o = S R im)
of Ab o A = Il =
.2 E NS AAE =2 o & o = A 2
308
XIS S 7,961,676 3,459,710 4,501,966
ol &
7,892,633 3,390,745 4,501,888/01 RIXISHHBAEES
ostugal AlZH X = 3,470,571
os0{2IAE 2SH X
(6,4002 x 13,023 x 12&) x 30% = 300,050
o=JIT 0| XN (X0lY) = 79,380
o= HOINEE XIS X2 (X20lY) = 2,569,042
oA sUQME 2HHIXIH (XLl = 48,720
oAl AME +EEJHIXA = 967,200
OSERSANE S
5,000 x 9,315% x 12& x 30% = 167,670
oY BUE K4 50,000,0002 x 16AIZ x 30% = 240,000
oRESHE BB A ALY = 50,000
69,043 68,965 78106 WSI|2AMUSEXS
oG st ZAIH| XIS (XI20l2)
(552,34420 x 2509 ) x 50% = 69,043
(%) 41,426
(2) 27,617




ZH:(3000) B MIOHEHl  2:(3100) === &HH 2 H &:(3110)=sERS Mg (3111) s AL NIAIES: (220) KR ALY (=3[ dE]

t = 7SI E I = I = Il
Ol &b o A 2 ol =
I o B NIE . HIAIE = of A M| = oA
403
XIS S 1,745,122 1,108,000 637,122
X0l &
1,745,122 1,108,000 637,122|01 KXISHHM A2 E X
o=E HEH BUDI = 25,122
(2) 25,122
o4ZE8 EA[LIXQ HLHIXL
100,000,000 x 30% = 30,000
oAXESME TAN X 1,400,000,000€ x 20% = 280,000
O MZREAAM 797,500
OlA A H Al A 200,000,0002 x 25% = 50,000
ENEMY L HHEAA
160,000,0002 x 25% = 40,000
MLIHSHEAIA 80,000,0009 x 25% = 20,000
SRR SHYAL 200,000,0002 x 25% = 50,000
CRBHEME U REAA
500,000,0002 x 25% = 125,000
SHDESHHAIL 500,000,0002 x 25% = 125,000
A2 HRRERY 200,000,0002 x 25% = 50,000
S A2 X A 140,000,0002 x 2HA x 25% = 70,000
S S [ ===V =] 270,000,000 x 25% = 67,500
SE R0 MM EAIA
400,000,0002 x 25% = 100,000

_10_




&:(3000) BRNZH 2 ki Mg (3111) sy ML KIAI! - (220) Kt HIAFES Col el
- = | im}
o = ol
T2 Mg AIAIE =2 5 A2
SH2 HHEAL 400,000,000% x 25% 100,000
oS MBIIBAL 612,500
QML AL B Al A 40,000,0002! x 25% 10,000
- NHIIDFBAIE 280,000,000% x 25% 70,000
RIS AIE 200,000,000% x 25% 50,000
2Ot AlE 400,000,0002/x 25% 100,000
EDHA JISHE MuA
400,000,0002 x 25% 100,000
CNEHAD-R IIE MAAL
160,000,0002 x 25% 40,000
CALURA24 MAAIL 70,000,000% x 25% 17,500
- MK RSIHBAL 100,000,0002 x 25% 25,000
CHEOIS ¥ HRFEAIL
40,000,0002 x 25% 10,000
- A24 JIBAIL 160,000,000% x 25% 40,000
S UX S IBAIL 600,000,000% x 25% 150,000
3 [2 151,566,285 = 27,957,817 X 0 7,593, 250]
sarze 187,107,352 175,265,270  11,842,082| [J| 0= 0 0 ]
100
ZA0f & 89,700 87,000 2,700
120
A E A 89,700 87,000 2,700

_11_



ZH:(3000) B MIOHEHl  2:(3100) === &HH 2 H &:(3110)=sERE Mg (3112) s dtatel NIAIE: (120) B &= I (=3[ dE]

L = S == S i}
of &b A = Il =
.2 g N AAE = of &b o s A &
201
2et=a 44,100 44,100 0
44,100 44,100 0]01 fet=23Hl
oget~ZH = 21,600
o352= & MAl = 6,300
oo gl = 16,200
202
Gl 43,200 40,500 2,700
43,200 40,500 2,700/01 =LA
oS AAREZX = 43,200
203
g2 =4 2,400 2,400 0
2,400 2,400 003 A F=XH =LY
oS LAY 200,000& x 128 = 2,400
200 [= 151,556,285 & 27,868,117 Xl 0 & 7,593,250]
AR O & 187,017,652 175,178,270 11,839,382 [JI 0 = 0 0 ]
210 [= 151,556,285 & 8,815,285 X 0 & 7.,593,250]
SEAS 167,964,820, 159,833,418 8,131,402 [7I 0o = 0 0 ]
201
2 et a 10,000 38,340 28,340

_12_




ZH:(3000) B MIOHEHl  2:(3100) === &HH 2 H &:(3110)=sERE Mg (3112) s dtatel NIAIE: (210) 2R A Y (=3[ dE]

L = S == S i}
ol & o At = | =
I 2 S MIE. NIMIE =2 O]l &b oM = A 2
10,000 38,340 N28,340|01 L2 Y|
OMAES BEXNFEXEM =X = 10,000
(2) 10,000
202
o4 H 18,000 39,000 221,000
18,000 39,000 A21,000[01 2LH0IH
oMASHE XNFIESM FA
300,0009 x 5% x 12 = 18,000
(=) 18,000
308
XSS 127,456,486/ 126,945,353 511,133
ol
127,456,486/ 126,945,353 511,133|01 RMHXSHHIANEEXZ
oXNEEZ FHSHYUMAIY = 826,000
(=) 700,000
(%) 126,000
oXEH=Y XNFISAY 500,0002 x 3,200ha = 1,600,000
(=) 1,600,000
ocHUEH MFISAMY
1,700,0002 x 42ha x 85% = 60,690

_13_



ZH:(3000) B MIOHEHl  2:(3100) === &HH 2 H &:(3110)=sERS Mg (3112) s dtatel NIAIE: (210) 2R A Y (=3[ dE]

t = 7SI E I = I = Il
of Ab o A = o] =
.2 E NS AAE =2 of  Ab oM = A
(2) 49,980
(%) 10,710
oMASEN XNFIEM X
700,000® x 172,000ha = 120,400,000
(2) 120,400,000
oMASEAN XNFIEM BAA(16IHAIZ)
5,000,000 x 16IHAlZ = 80,000
(2) 80,000
oXAEXNE MNEXEM =X LA (16IHAIZ)
11,3322 x 1,963ha x 85% = 18,909
(=) 15,572
(%) 3,337
oXAEcXNE MNIEXEM XA 665,550
(2) 548,100
(%) 117,450
- 400,000® x 1,952ha x 85% = 663,680
(2) 546,560
(%) 117,120
=N 200,0002 x 1iha x 85% = 1,870
(2) 1,540
(%) 330
oNRLASE IO (FTA)II2 A HX ALY
42,000,0002 x 85ha = 3,570,000
(2) 3,570,000

_14_




Z:(3000) B ROKEHI  2H:(3100) 52 AJH ] 8 (3110) s RS M8t (3112) s At2re) HIKIBt: (210) 8 R ALY SRR
ni; = b I B Hi m}
o & = &k = J| =
.2 E NS AAE = of  Ab oM = A
o W HHI X &AL 362,056,000 x 65% = 235,337
(2) 181,028
(=) 54,309
403
MXSHS 40,480,334 32,809,725 7,670,609
A=01A
40,480,334 32,809,725 7.670,609/01 XIXISHHA=2E X
CXASABSAHX T ZLHA (7IHA) = 1,560,000
(2) 1,200,000
(=) 360,000
CELINTH BSAML(101HE)
8,475,911,0002 x 90% = 7.628,320
(2) 6,780,513
(%) 847,807
oZ2E JIRI| AMY 200,000 x 2,755ha x 75% = 413,250
(%) 137,750
(2) 275,500
osI|HYUUAY 500,000,0009! x 1JHA x 65% = 325,000
(2) 250,000
(%) 75,000
oltsSZMAND KA (2IHAFY)
437,142,000 x 70% = 306,000
(2) 262,000

_15_
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ZH:(3000) B MIOHEHl  2:(3100) === &HH 2 H &:(3110)=sERE Mg (3112) s dtatel NIAIES: (220) KR ALY 2] [ HH]
2 = S i)
o e = &k = Il =
e = of & % = A
307
gIerol M 125,000 125,000 0
25,000 25,000 0]02 2Itd a2 X
CHBASAS MM AKX 25,000
100,000 100,000 0|04 BIZtHALE X
clSE g4 FHeiteg 100,000
308
XS 865,472 26,000 839,472
o1&
865,472 26,000 839,472|01 NXEHBLELS
cHHASME oFH X
300,0008 x 2,00021 x 15% 90,000
oELH St XIYAY
4,0008 x 100,000ZCH x 30% 120,000
oSN BHEE XA
46,1602 x 142,000% x 10% 655,472
402
g2t Xt=0l 300,000 0 300,000
S|

_17_




ZH:(3000) B MIOHEHl  2:(3100) === &HH 2 H &:(3110)=sERS Mg (3112) s dtatel NIAIES: (220) KR ALY (=3[ dE]

2 = S IS R == S )
ol & o b 2 Il =
T2 Mg AIAIE =2 o & M= oA
300,000 0 300,000/01 QI2tRt= L=
oRLZASUS(6AP) AT X = 300,000
403
XX S S 17,562,360 15,086,852 2,475,508
X0l
17,562,360 15,086,852 2,475,508|01 XHXISHA A2 2 &
cBHAENY NsTHIZ X 7,545,960
2hal| g 164,4002! x 139,000ha x 30% = 6,855,480
2ha0l & 164,400% x 28,000na x 15% = 690,480
o 25 |F2E LAY
100,000,000% x 32004 x 20% = 640,000
oELM OB S4 = 300,000
OIS OOIMAIE FHI X
40,0009 x 40,000 E x 20% = 320,000
o=J|H &3l4el HUIXE = 30,000
o R0Is)| XA 160,000,0008! x 10CH x 20% = 320,000
odf YUK MBI| X = 84,000
cZd2JlE Mg 2t 2 = 28,800
colEFAY XS YHMI XA = 60,000
oS3 SZME, HEI X = 15,600
o= ZHI| XY 4,000,000% x 100CH x 15% = 60,000
cEUEHE NIRER XY = 90,000

_18_




ZH:(3000) B MIOHEHl  2:(3100) === &HH 2 H &:(3110)=sERS Mgt (3112) s &t 2re] MIAIE: (220) XEAI A (=3[ dE]
! = rINE I ] _
ol Ao & S | ES
B HIE MM 2 R

oL HEMII X 200,000,000& x 2CH x 20% = 80,000
CHEASAMBHNSESAY

100,000,000& x 4024 x 20% = 80,000
o2 I KAALS = 288,000
oZSI| BHS HAAL

60,000& x 20,0007H x 20% = 240,000
ol DEEYSI NSA(53)

90,000,000& x 16AI= x 15% = 216,000
o)FAHE LHAE = 150,000
SNSRI WX AL = 150,000
CDBH SFYA XA = 150,000
oSS EASM SHMY = 40,500
CXERURS THHHE LA ALY = 75,000
SANMGRA WHXRZ ALK

75,000,000& x 50ha x 20% = 750,000
cZIIZUSE LYES =0

10,000,000& x 50= x 20% = 100,000
CNBI AMMMAIL NI

5,000,000& x 400ha x 20% = 400,000
o2E0| HAEH XMelAld K& = 225,000
CFE W AdX B2AE

200,000,000& x 6024 x 25% = 3,000,000
CDEI B HSMEAL

20,000,000 x 100924 x 25% = 500,000

_19_




ZH:(3000) B RINLH  2:(3100) 5440 H] 8:(3110) s8R S HI&H: (3112) s Akt HIKIBE: (220) X HI AL ERNEGEED
t = 7SI E I = I = Il
Ol &b o A 2 ol =
I o B NIE . HIAIE = of A M| = oA
cHMHETH P AIL = 67,500
cREBE S X = 300,000
o Hi A XHHH & CH 3E ALY = 60,000
osg2e)| 23 = 126,000
ORI BEAESHI X4
400,000,0002 x 30% = 120,000
oHEESAXI| X = 180,000
oS|I UM Al ALY 300,000,0002 x 50% = 150,000
CEIHIMAAlE ZH| X = 50,000
SElHl AED| AR = 100,000
oS AMBE AlHAIY =X 320,000
SZ 022 AHAY = 100,000
CBHAEEINR AAIY = 25,000
IHEEAH 22 Al EH AL = 20,000
H2ESQE AHEAY = 75,000
HES DA 2 ALY = 100,000
oHA ZEHES 24 = 50,000
o=2lal Sst4 Al K = 100,000
3113 (= 0 & 15,941,000 Xl 0 2 122,978,000]
SEJf L 139,003,000  122,316,470| 16,686,530 [JI 84,000 = 0 0 ]
100
2 A0l A 171
120
2 AR Y| 7,530

_20_




X:(3000)BHOMHl 2 (3100) 5 4 ALK 2 8:(3110) 5 RS HIg: (3113) s &g el HIAIE : (120) 2 & = Z | ERNEERE)
2 = d 4@ = oy im)
Of &b o Ab = =S
I BN MIAIE = O & % = A 2
201
B2 A | 14,500 14,670 A170
14,500 14,670 A170]01 LBt
oYt 2| = 6,000
=] = 8,500
202
o1 22,100 14,400 7,700
22,100 14,400 7,700/01 2LH0iH|
oslHlgREA = 22,100
203
R AIY| 2,400 2,400 0
2,400 2,400 0/03 Al FEXIAREZAIY|
o= IIBIELAISEX = 2,400
200 [= 0 & 15,902,000 X 0 = 122,978,000]
AHS Ol AF 138,964,000 122,277,641 16,686,359 [l 84,000 =2 0 0 ]
210 [= 0 & 8,319,500 X 0 o 122,978,000]
BEAY 131,381,500, 118,042,641 13,338,859| [7] 84,000 =2 0 0 ]
202
o1l 43,000 30,000 13,000
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ZH:(3000) B MIOHEHl  2:(3100) === &HH 2 H &:(3110)=sERE Mg (3113)sEHE 2el NIAIE: (210) E R A Y (=3[ dE]

L = S == S i}
O]l At o N = J| =
I 2 S MIE. NIMIE =2 O]l &b oM = A 2
43,000 30,000 13,000({01 2LHOHI
oIS L SHI|BFEAMAIY E=X
40,0002 x 59 x 1003 = 20,000
() 20,000
CSENSETEMNY L SEMSBSAFHIAY =
40,0008 x 59 x 253 = 5,000
() 5,000
oz EME2AIHY L SHIBIELAY =X
40,0002 x 6% x 503 = 12,000
() 12,000
oXlES BUMNLAY =2 L IHSASK ZA
40,0002 x 69 x 253 = 6,000
() 6,000
308
KX SIS 84,000 84,000 0
o1&
84,000 84,000 001 HXSHMBIABEZ
oK 2%
1,200,0002 x 1750024 x 40% = 84,000
(71 84,000
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Z:(3000) B ROKEHI  2H:(3100) 52 AJH ] 8 (310) =55 RS AIgt: (3113) s & e el N ERGDEEI EL R
2 = Hod 2| oy )
ol & o b 2 Il =
.2 E NS AAE =2 o & % = A 2
402
0I2EXH=20] 33,891,000 30,744,000 3,147,000
|
33,891,000 30,744,000 3,147,000/01 QI2tX=2E X
o i 4=IH& (3,410na) = 24,000,000
(2 24,000,000
o=Jt2A|YXTHIME L (5X7) = 6,380,000
(2 6,380,000
oXE+2 L (4X2) = 3,511,000
(2 3,511,000
403
MR SRS 97,363,500 87,184,641 10, 178,859
X201 ™
97,363,500 87,184,641 10,178,859|01 AXI S =28 X
oREAXFel (2 298ha, JIS 550ha) = 10,051,000
(= 1,114,000
(2 8,937,000
o Ui 4=JH & (716ha) = 5,305,000
(2 5,305,000
o 2| BHAH| (DR 2l 165ha, £ 4=335ha) = 4,094,000
(= 456,000
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Z:(3000) B HMIJHEHI  2:(3100) === &KL HI &:(3110)=sERE Mg (3113)sEHE 2el HIAIE: (210) B = At (2] [ &)

ni; = b I R = m
— of Ao N Hl - A = ol %
N ERLE o of & o | = oA 2 - = -
() 3,638,000
o J| H 3 = 2 & 3L & (303km) = 28,430,000
(%) 3,158,000
() 25,272,000
oS EXNZT)|UEZ(2801H) = 16,108,000
() 16, 108,000
oS ENSEEIML (10X ) = 8,161,500
() 907,500
() 7,254,000
oXMRANS T M (9K ) = 4,364,000
(%) 485,000
() 3,879,000
oK ELB UM (6XF) = 3,670,000
() 3,670,000
oS EMERSIL(682) = 10,478,000
() 1,165,000
() 9,313,000
o XY EMIME S (18X17) = 2,258,000
(%) 258,000
() 2,000,000
CARBELINL(4XR) = 1,827,000
() 421,000
() 1,406,000
oSt HHI 24 IHE (16A12) = 2,074,000
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X:(3000) 2 HINLHl  2:(3100) 4= AHH Y] &:(3110)sHRE ME: (3113) s &= =2 HIHIEE: (210) 2 T AFS EENEEEE)
2 = S IS R == S )
O]l At o A = Il =
I 2 S MIE. NIMIE =2 O]l &b oM = A 2
(%) 230,000
() 1,844,000
osU=sEHO2KEZLAMS (1K) = 543,000
() 125,000
() 418,000
220
KR AFSS 7,582,500 4,235,000 3,347,500
403
XSS 7,582,500 3,935,000 3,647,500
X0l A
7,582,500 3,935,000 3,647,500|01 RHXIESH S =
CAFRRL2IAIA HES = 7,582,500
N = & A 352,591,369 325,583,292 27,008,077
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